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Interactive Question

How does the tension in the string in Figure (a) compare
with the tension in the string in Figure (b)?

S kg

Figure (a) Figure (b)

A) They are the same

B) Figure (a) is greater
C) Figure (b) 1s greater
D) It 1s impossible to tell
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Interactive Question

Consider a person standing in an elevator that is moving
upward at a constant velocity. The upward normal force
N exerted by the elevator floor on the person is

A) larger than
B) identical to
C) smaller than

the downward weight W of the person



Interactive Question

Consider a person standing in an elevator that is

accelerating upward. The upward normal force N exerted
by the elevator floor on the person is

A) larger than
B) identical to
C) smaller than

the downward weight W of the person
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